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Aus velocity for t in [ I, 1.5] ?

Ay = 11.25 - 10 = 1.25 m

It= 1.5 - I = 0.5 s

¥f= t.sn = 2.5 mls

Equateur of secant line?

points : ( 1,10)
,

( 1.5, 11.25)

slope : 2.S

point slope foam :
Y- Yo - m Cx- xo)
Y - Yo = miff - to)

Y - 10=2.5 (t - 1)
V



y - 11ns = 2. SCE
- 1.5)

&exercise : put these in

ye
mxtb form

and verify they are the

same !
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Derivative:
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1) instantaneous rate of change

2) Slope of tangent line
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' ( 1) = 5

a. slope of target line is 5 at E- I

• velocity is 5 m/s at E- I
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Not every funfair has a denature

at
every point :

f'lo) = Inigo f(0th)h-fA_ = hlagsolothtlolh
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